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—: LLM cascade

| Cost (USD)
Provider API Size/B 1M input tokens | 1|V] output tokens | request

GPT-Curie 6.7 2 2 0
ChatGPT NA 2 2 0
OpenAl GPT-3 175 20 20 0
GPT-4 NA 30 60 0

J1-Large 7.5 30 0.0003

AI21 J1-Grande 17 80 0.0008

J1-Jumbo 178 0 250 0.005
Cohere Xlarge 02 10 10 (
ForeFront A1 QA 16 0.8 .8 0
GPT-] 6 0.2 51 0
GPT-Neox 20 1.4 35 0
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input ans —>[ Scorer] — Score
GPT4 0.857 33.1
(FBZE 3 Sl AR)

FrugalGPT 0.872 6.5
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Z is the minimum i
such that s(q,L;i(q)) > A;

r(a, Ll-(q)): performance of L;

S(q, Li(q)): score from scorer

Cost of each request:
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